Colorimetric transformation i = 4
¢t =cr =ac*® with a=0,75;b=1,00
rgb —> olv* rgm OlV*—> olv*a

0.656

1 0.094
0.438
0,083 0.094
H 0.063

rO0yd

feudl-2a



Colorimetric transformation i = 4
=c} =ac®with a=0,75;b=1,00
rgb —> olv* rgm OlV*—> olv*a

8 0.234
0.438
0126 0.094
3 0.063

r25yd

feudl-2a



Colorimetric transformation i = 4
¢t =cr =ac*® with a=0,75;b=1,00

|
rgb —> olv*

05
0.25 0.5
0.25 025 0.25
0.25 gzg 0.0
0.0
oo 20
0.0

feudl-2a



Colorimetric transformation i = 4
=c} =ac®with a=0,75;b=1,00
rgb —> olv* rgm OlV*—> olv*a

feudl-2a



Colorimetric transformation i = 4
=c} =ac®with a=0,75;b=1,00
rgb —> olv* rgm OlV*—> olv*a

i 0.937
9;

o'sgg
S}

feudl-2a



Colorimetric transformation i = 4
=c} =ac®with a=0,75;b=1,00
rgb —> olv* rgm OlV*—> olv*a

i 0.844
0.938

0.563 0

feudl-2a



Colorimetric transformation i = 4
¢t =cr =ac*® with a=0,75;b=1,00
rgb —> olv* rgm OlV*—> olv*a

0
.0
0

075 5% o075
072 0625 52
o075 o

feudl-2a



Colorimetric transformation i = 4
=c} =ac®with a=0,75;b=1,00
rgb —> olv* rgm OlV*—> olv*a

9 0.656
0.156
0.1 0,094
8 0,063

Y759

feudl-2a



Colorimetric transformation i = 4
¢t =cr =ac*® with a=0,75;b=1,00

0094
.25 0281 0063 0094
0031
.25 e 0063

feudl-2a



Colorimetric transformation i = 4
=c} =ac®with a=0,75;b=1,00
rgb —> olv* rgm OlV*—> olv*a

feudl-2a



Colorimetric transformation i = 4
=c} =ac®with a=0,75;b=1,00
rgb —> olv* rgm OlV*—> olv*a

feudl-2a



Colorimetric transformation i = 4
¢t =cr =ac*® with a=0,75;b=1,00
rgb —> olv*

0.0%4

.25 0469 0.063 0656
0.031

.25 el 0.438

feudl-2a



Colorimetric transformation i = 4
¢t =cr =ac*® with a=0,75;b=1,00
rgb —> olv* rgm OlV*—> olv*a

oo
0.063 Q|
0,063 0.656

1 0.438

b00mM=b00

feudl-2a



Colorimetric transformation i = 4
¢t =cr =ac*® with a=0,75;b=1,00
rgb —> olv* rgm OlV*—> olv*a

feudl-2a



Colorimetric transformation i = 4
=c} =ac®with a=0,75;b=1,00
rgb —> olv* rgm OlV*—> olv*a

feudl-2a



Colorimetric transformation i = 4
=c} =ac®with a=0,75;b=1,00
rgb —> olv* rgm OlV*—> olv*a

feudl-2a



